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RAL-—- TR FREERSEE- TR FAage-—R
(sample or population) (for samples)
DOE Figure, Table Statistical Inference  Quality Problem
Process Shape of Distri. Regression Analysis Problem Solving
Questionnaire Central Tendency ANOVA(X5#{%) Decision Making
Dispersion

(To know property of population)

Ex: 57 ﬁav:fa’ T H (X)) 2 B AR
¢ e ARAE T T - v]zﬁn Y303k A - e iR B ~ &
------ Shape of Distri. - Central Tendency( X ) - Dispersion( g2)-------1&#
H,o #+3 Ca, Cp, CpK ----mmmmooee Az 4 Fscie?
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2. /T ALK 5 KR

(D23 F#: LSRR -T2 F 2
() s 58 (or BMEFH): BE® - BEL A 1Y
(3)++#cie (discrete data or attribute data):
* & ¥l A BRE
(4)3+ % & (variable data or continuous data):
£k wE-
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TR %A

AR d B :s«a T b B e
(F# 4, P*? B, 2, TL)

ﬁ_}@m 'ﬁ’r’: T 1}{]‘;‘5 o ‘P"L %mwi_m.r %
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3.1 * %8 (population):

7 EAENBH(or % )2 ATy BRIEATA S 2 R B

=<

— £ P IRSE B2 RICRTET A2 B A
X: a—_ﬁﬁ———»%‘r*b'“rﬂ?’*i%@
rREF2Z L824
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3.2 ¥ * (sample): * %2 - INim

EX: 2#P21000F 5, 2 25722 § &
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3t ¥ (statistic):

N n

ZXi Z(Xi _;)2

x _ ) 82 — =1
N

Random Variable
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éviﬁl\b’:%% ’ﬁiagi%’ /\?‘:“ E';
BE: VEAHMETN, BET ART R

42 @D &
B FHRAGEAMAL PG, BERIT L
gL G EE, H A, AR
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4.3 @7 2

i 3 %43 £ (Simple random sampling):

B f“«ww PRI E G 2 L p ’f'»%f@s
BaN,d B9 sgnB 2Bk As > o=
- B 5 m%ﬁ}ﬁ%}i ARG AR AR ¢ s €

At 2R HE SR
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EX: N=3, {1,2,3}, n=2 (% *z %)

<SOI> ¥ oy ik A E=3, A Y a
(1,2),(1,3),(2,3)

£ BV R AR A ¢ i ¢ =13,

(note, a random sample, X1,X2,...,Xn~iid)
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& R L 1% 30 % (Stratified Random Sampling)

B R R A N B TR A ], R
Bk A wlAE 7 H R R, A
RO EAR S AL R

Note: & FF A & <, A p £ 3]
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i ﬁl, fi\‘)'KF'a /ﬁﬁ'g;b'* f;l

(had
PR R, PR R?

A gt )0, 25
A ﬁ{b’* ()

5007, B @ A g b O 25
Bt B H T RN 9\5 had

Bt WHE g EREREI0

et BH SR EZRBLIE
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EX: 3 2 2§ 20001

A1, &
P2 F 204 A P IR
0

PRI &9 4150
<sol>
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EX:e e P R Rk p 3B ERH
(40%, 35%, 25%) » zxaves @ % Rtz F L
A5 5 P R4 e 3R

<sol>
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& Sudd $k (Systematic Sampling)

21>

B R 2 Ni—%n‘)i—;’_;ﬁ— #L}ge,’ 7R
(N#N~ % A~ ANNB 2, 5224 rp
M EBRRE 1,1.1” Fb B —
ﬁ,{’ %Tﬂ*ﬁ‘%’{»k E]J v 2z %k
MBI A8 - Bk Ao
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EX:d 7100 58 (7~ % )2 = #8025 Stk
23 B~10 (n=10), B M e A 25 @7

<sol>

1,2 ,3,4,5,6,7,8,9,10,11,12,...,21,22,.....31,32, ...,
91,92,...,100,
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FR 7%z 44 & (Cluster sampling)

Bt R KB IR TS B ,uf;gﬁﬁ’i
"L R P KBRS B\r:@;%rs i ,_qfuf-'
DIMAFEFASL o

Note: "M £ B % » R ZL R
fﬁ%‘b;% A )3 AR N2 LN
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5. TR 2 A
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5.1 discrete and continuous data

(1) discrete data (3* #< & 7 #L——-attribute data):

EX:ﬁ.<,élZ&»ﬁ9:’ A @ﬁﬁ{? 3;]% /\ﬁ{a E’]‘i 1=
He, |

(2) continuous data (3+ = & ¥ #L---variable data):

gé‘}i ) _E/r'g 9 ‘g‘-‘g“ 9 vi/{)\ 9)3;;?:....
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5.2

® = B]( histogram) ez =

TR ECYR 2 A R

TR AR L
= %]m%lﬁ‘" = A B 4T
(1) F Pk I B T A “,EL%; INGE 4 (2*#\1"”.%()03333
(2) % B 3-8 2 F, ex: R=4.7-1.6=3.1 -
(3) #dcdp » k(=7) % -
(4) =B, 5 > & 2P 2 ie=R/k=3.1/7=0. 44, 20.5 -
(5) M1.45(K&] B) 5 % - “‘E'_i'f Ao B, 4540, 5=1. 95

Bh- 2 PR E LR R o
(6) =t #ick fie & f 33t & ,éf_%i&"i =k B o R — B & oo
(7)) RPpet 4 > ¥ - HE > F

L

£
L
B
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o R YR | ¥k | AA¥SE | AR HESE

A
1.45-1.95 1.7 2 0.050 0.050
1.95-2.45 2.2 1 0.025 0.075
2.45-2.95 2.7 4 0.100 0.175
2.95-3.45 3.2 15 0.375 0.550
3.45-3.95 3.7 10 0.250 0.800
3.95-4.45 4.2 3) 0.125 0.925
4.45-4.95 4.7 3 0.075 1.000

&3 40 1.000 1.000
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1.95 2.45 2.95 3.45 3.95 4.45 4.95

A
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distribution
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5.3 8 & Bl

(1)Shape of distribution, & » &%, 37 &%

¥ 5 RAFFAE - Bs fe B ~ 4 --- Shape of Distri
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PAMLAREAL AN F R ERARRT B
B L His L e @?

P e g endatas fe? - A ! Why?
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e e

|

BE 5

Y

bl s

140 — 140 -

130

100

BD

&0

40 4
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http://www.connectseward.org/shs/da1/review07/Distribution.htm�
http://www.connectseward.org/shs/da1/review07/Distribution.htm�

Central Tendency ( ¢)[#7# -k Z#=GDP]

2007---US$16274(Taiwan), $19624 (South Korea)
2010 $18303 $20165

2007---Tai---~ & & 4= 5NT$26k, SK--NT$71,000
2012 NT$24,655

7 ,t%‘ﬁs’ﬁff——- F+5mmiR 5 Nﬁ*i&(«%ﬁiﬁz)
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N
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Qo
qa
X
iy
\m‘ﬂ
%ﬂ}
[
3
7t
Loy

2007~ 5 B 4= ¥ 5§
=NT$40000-18000= NT$22000 range
(Range=~6sigma----sigma=22000/6=3667)

F T 4k S5 mMmMR 2 B R (% A)
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(2) - #h '

EX: gxt g B 25}9};;%:32%@_1& '
P’/{%ﬁ.—:— TB‘ A -LB)FLT%' %i}"i___:}(ﬁfé\ﬁa[‘%] . %—\'

+L % Shape of Distri., Central Tendency, Dispersion
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Frequency
|

0.0 21.5
SHEF

N1 Meanl StDevl Variancel C.V.1=StDevl/Meanl
55 21.475 1.638 2.684 1.638/21.475=0.0763
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Frequency

5.0 37.5
B AN

N2 Mean2 StDev2 Variance2 C.V.2=StDev2/Mean?2
55 36.538 3.387 11.469 3.3867/36.538=0.0927
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(3) ¥ #BEMMIR 5k BT S F 2 B R
A: Mean=4.5 StDev=1.0 (ZE[F~HE)
B: Mean=2.0 StDev=0.1 (&1~ #E)

CV(A)=1.0/4.5=22.22% < CV(B)=0.5/2.0=5%
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(3) :+ & @ sz (s A7) ac # (process capability)

< 7 USL, LSL %

LSL USL b

7 £ % =P(X>USL, X<LSL)

&R F<p E(or® R)-----it 4 4F

ERF>P H(ork £)——— —- &

KPR Sy SPC2013BU & KEG Z I RIS B
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(3) 3+ & & A2 (% yn A7) sv # (process capability)

¥ OS¢

5}% P {ﬁ =7 )

A E1&3R=P(X<LSL)
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54 &

=

FAHINE SR PaFl, 6P
(a random sample, X1,X2,...Xn iid)
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EX: 7 & T2 endd 4
machineA\

/ output----sampling
machine B

£ 10 g

machine A — . output A---sampling

machine B ____, output B---sampling
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5

LSL USL M AE

NENe*H-—-3XP, 2
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B ¢ a4 & FL2_ 4 fe?

Let i # =8 %4
WAy F R

2
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LSL USL #Hi

BREINEH--LFE
(¥ Por&/h: %7 &%

g &R
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A R

+ A%+ or %)
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—

LSL usL LSL usL
» BURR RE RSS2 MR A AR RE T

1 sl

LSL USL LSL USL
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FAst F EIRP IR F F 2

EX: Samples come from 3 different groups of operators

Samples come from different machines

not a random sample, not iid obs
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£ J2 4 & =a random sample

X1, X2,...,.Xn~ Iid

works for Statistical inference or analysis
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5.4 Checking Sheet # +% Bl (f & fr 5o 3 #cdh)

o & LR R R i f6

FE?E—,/? °1‘§*"le§ ‘

Fj" & R %\m;}*—H EJT.:')}{«‘:;_L |

Fg?ﬁmf*%'{,}"ﬂ‘ﬂ‘ k0T R RS RE GOIRR
A FTE TR 2 o
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7.l EéEr B A

TR BT Fearmiak

(== I

01 “
02 Il
03

|
o AT A1

06 ‘ I
07 |
08 |

09 T 1
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0.9 1Pl

ER ARl ;&«ﬁ zZ a8 7 Vilfredo Pareto
ah% Ao il_fé F H TR ke et 0 1960
EFF}\W (Juran) #-4p £ BlE
A"’HF ° x}——r’r'?/r’ﬁvﬂ TH
AN A %‘rﬁ:ﬂ%\ﬁv" Sy A
& a‘f& I F] oo ¥ U dicE

y w1 1) x?} W?J %P%zmvijg-

* A B
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150 7

100 4

30 4

Bt
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100
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BRI A A LT

By

100

70

40

j

SR s R4 R SPC201 3B A A 25

5HE

—

cRom B end £ 37

=]
x 700
500
an
E ] > 1B
SR
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FUpLBLL TR

W e Bt T B A e R T S e
AE T oo HjEE - :J}IEB erlgﬁvmﬁv 7o B 2
W hEg o AT E LRI P

BN HA T Hb N A W '
,%—B“?ﬂmﬁy\ééo%@,ﬂﬁﬁ} ",%’E'Jti‘;%—
JERETF IR R D IR

278 P vy 4 = e
J}é'fﬁ? ;’i__él* eITE
Vg 4 Kﬁ{i\ﬁv
ﬁ/z‘y\“‘?“r PIE‘B

T N A}
10 s 1 igz,;;i_o & ;;é
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6. BF WX L fonE i

6.14% 5 hE &

, ST niEH ~8, Eventz a® ~ % , P(E)=a/n
EX:5pad, 35+, = 15,S={ & &, * & 5}, 7]
P(% &)=1/2=0.5

(2) 4p ¥+=x #c

m: § 5% =< #c, b: Event= 4 =< #ic, P(E)=b/m
EX:5pad, 35+, =3+ 15,0 P(2 %)=3/5=0.6

S B A J SPC 201 B 4 A SR A A B S g



L

S

P(£59)=0.5

P(é’i%)#ﬂé?%f
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6.2 £ & s 5 4 fie

(1)= 78 & fe

(2)= 5 &~ pe2 & * (np and p charts)

(3)i = & i

(D~ pez_ g* (¢ and u Charts)

(5) ¥ fs & e

(B)F e apez B (k2 TH8( X )ik
# fe, X and R charts, 3 and S charts,
X and MR charts)
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(1)= 78 ~ fe

a.ix % a Bernoulli trial, P(success)=p, P(fail)=1-p
Z % ntimes
Observe the number of success

b. r.v. X=the number of success with p.m.f
P(X=x)= C,p"(1-p)"",x=012,..,n.

c. E(X)=np

d. V(X)=np(1-p)

e. p------- 0.5, symmetric distri., p---0, right skewness,
P------- 1, left skewness

f. np>5, n(1-p)>5,-------- X~N(np, np(1-p))

g. Nn>20, np<=7------------ X~Poisson(np)

KB EEAE sy SPC2013BUA REMG R RIS BUX 59



%
el e ¥R #HK? X ~B(6,0.1),x=012...6.
C0.1%0.9™*, x = 01,2,.....
Sol: # 725 &Rz 85
P=P(X=0)+P(X=1)+P(X=2)
E(X)=6*0.1=0.6
V/(X)=6*0.1*0.9=0.54
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(2)= 78 o fe 2. g *

7 & ¥ 4(np) ¥ +| & (control chart)
rv. Xedd Iini2 32 en7 & 8, X~B(n,p), WAL 2T
pe i

CL=np, LCL=np-3np(—p) , UCL= np+3y/Np(L- p)

% & ¥ % (p) ¢ #|®(control chart) o(1— p)
7 & % F=X/n, E(X/n)=p, V(X/n)=

N

CL=p, LCL=p-3y" UCL= p+3

KB EEAE sy SPC2013BUA REMG R RIS BUX 61



(3)k = L fie

a FEEBRFIFAN LTI FATEFL 2L
B E 2 7’?41573%  REREFR N F A 2 F

B
b. r.v. X= ),Liuﬂ%!"”ﬁ\ AT APE T L 2 K
wit p.m.f
P(X=x)= 4° "  x=0,1,2,..., A >0.
C.EX)= 4 ©
dV(X)= A
e. small A , right skewness,
large 4 --—--- symmetric distri..
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EX: ¢ 4 % 2 TIom g5 6, £ F P {15
F oA BLE Rs 20 TR E R T2 K7
Sol: r.v X== 75 % 2_ s 8L B

oz 2. 8 5 =P(X<2)=P(X=0)+P(X=1).

Ex: ’\’”é_é_ 2% @%ﬂfi:—fa 1,7 g4 2251
Fod % 2:@; %%ﬁ B2 ERE? R
2 R L

Sol: Mk X A fetEiTiniE (fh == 78 Aa\}‘ﬁoﬂ: %7)
rv. X=% & . #~Po(2.5)
P(X<=2)=P(X=0)+P(X=1)+P(X=2)=
E(X)=2.5=V(X)

LA 5 SPC2013 B A KA Z A R BB 2%



(4)ik % A o2 fis *

a4k BhdcE 41 W (WAZFE 2T )
r.v. X=3 B~nit 2_ 4 2hdic, E(X)=V(X)= A
CL=A,LCL=A-3J2, UCL=A+3 |}

b. ¥ 4% BL#ic g 4] Bl
H =4 2h#c= X/ni, E(X/ni)=u, V(X/ni)=u/ni

CL=u, LCL= u_3\/E, ucL= .3 Y
Ni N

LA 5 SPC2013 B A KA Z A R BB 2%
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(5) % # 4 fz(Normal Distri.)

AGBA AT T 308 400 F W R HGEEH LR S O

B.r.v. X~N(x0?%) —(x—p0)?
e 257

pdf f(x)= f (x) = =

C. P(X< 4£)=P(X> ££)=0.5

D. 2= N (0,1)

E. P(Z<0)=P(Z>0)=0.5

F. P( u -k o<X< # +ko )=P(-k<Z<k)

If k=1 then P=0.645, If k=2 then P=0.9545
If k=3 then P=0.9974

y —0O0 < X < o0
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EX:F P2 2A0EBE SR ¥ RAR —‘I'ir’ﬂi"’ ¢ 2500-]:
o R X550/ pF o o P 3T ik r 2 1500
5 R ()R £ LR cPE

|, R 1 R P* sl &
LP?(2)7F AR N k2 5 L P?23)EsE
AT B 2550 pr2 5 L w2
Sol: X~N(2500, 2500)
(1)P(X<1500)=  P( X —5%500 g 15005—02500)
=P(Z <-20)=0

(2)P(X>1500)=1-0=1

(3)P(X>2550)= p X _5%500 > 25505_02500) - P(Z >1) = 0.15866

KB EEAE sy SPC2013BUA REMG R RIS BUX 66



AT oRc(X ) ends 1A e

SR EAE XXX} AR X N

2 02

) [E(X)=H# V()= ]

o)
n

| N Xi ~
Rl X = ; N (4,
N
Note : F# #Afe ke 2 2 ¥ LA fie > & 4 g2 2 4
Bl * ¢ & 4& L2 I2(CLT) >
¥ I

2
% - N(y,%), n> 30

KB EEAE sy SPC2013BUA REMG R RIS BUX 67



EX :

|

Sl A ‘:'7 ié‘mE’bﬁli’J w2500/ pF » & &8 X 100
T T %RTE P T 5 2450 pF 0 3R

(1) REZ LT S6BEW2z T10Z & 4 R AN s % 57
(2) $OBE T 194 £4zi3500 ] P2 {8 5 i 2

N
2
\

9

_ 100?
. ~ N (2500,
Sol : X ( 36 —)
(1) P( X <2450)= PFU 2450 - 2500 )=P(Z <-3)=0.00135 -
oln  100/+/36

WEE L BT 36BEW2 T1ad &4 R P s 5=0.00135 -

_ X-2500  3500_2500
(2) P( X >3500)=P( >
X 100/+/36 100 / o

WHEE B 36 BEH 2 T 103 447183500 ) pF s 5 =0

)=P(Z>60)=0 -

SOFE I R SPC2013ED A KB RS R S 68



(6) % fix ~ fechis * (g ) W eruE )

A. XFeMR# 4| W erug = (n=1)

XN N(IUO-) , Iuandg © 'ﬁ?-
X chart:
UCL= p+3o
CL= U
LCL=

u—3o

KB EEAE sy SPC2013BUA REMG R RIS BUX
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B. X andRchart 6FZ 2  jandos? @ 4T

X ~N(u,Z—) ER)=d,o’ V(R)=dZo?

n
~ Chart: o
L+ 33—
X UCL= P Jn
CL=
LCL= pu—3-2
R chart: Vn
UCL = D,o D, = 3.686
CL = d,o
LCL= D,o

D, =0,n=2
(REHIE ZHT2R),

KB EEAE sy SPC2013BUA REMG R RIS BUX



C. S chart &guz *

E(S)= C,o V(S)= (1-C;)o’
S chart:
Cot+3fl-Clo  =Bso
C,o
co-3fi-Cio  =B.o
n
c._ (L)% F(E)
n—1 r(”gl) B5, B6, c4 (L & 4| B2 %t 4)

L S 5 SPC20 13 A K M 2 S I I h S n



A ZEE(REY BT )

1-0=P(Z < z), where Z~N(0,1)

0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.52/9 0.5319 0.5359
0.1 0.5398 0.5438 0.54/8 0.9517 0.9557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 0.5793 0.5832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 0.61/9 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
0.4 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.68/9
0.5 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 0.7580 0.7611 0.7642 0.76/3 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
11 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
13 0.9032 0.9049 0.9066 0.9082 0.9099 0.9115 0.9131 0.9147 0.9162 0.9177
1.4 0.9192 0.9207 0.9222 0.9236 0.9251 0.9265 0.9279 0.9292 0.9306 0.9319
15 0.9332 0.9345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 0.9452 0.9463 0.9474 0.9484 0.9495 0.9505 0.9515 0.9525 0.9535 0.9545
1./ 0.9554 0.9564 0.9573 0.9582 0.9591 0.9599 0.9608 0.9616 0.9625 0.9633
1.8 0.9641 0.9649 0.9656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 0.9713 0.9719 0.9726 0.9732 0.9738 0.9744 0.9750 0.9756 0.9761 0.9767
2.0 0.9772 0.9778 0.9783 0.9788 0.9793 0.9798 0.9803 0.9808 0.9812 0.9817
2.1 0.9821 0.9826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 0.9861 0.9864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 0.9893 0.9896 0.9898 0.9901 0.9904 0.9906 0.9909 0.9911 0.9913 0.9916
2.4 0.9918 0.9920 0.9922 0.9925 0.9927 0.9929 0.9931 0.9932 0.9934 0.9936
2.5 0.9938 0.9940 0.9941 0.9943 0.9945 0.9946 0.9948 0.9949 0.9951 0.9952
2.6 0.9953 0.9955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 0.9965 0.9966 0.9967 0.9968 0.9969 0.9970 0.9971 0.9972 0.9973 0.9974
2.8 0.9974 0.9975 0.9976 0.9977 0.9977 0.9978 0.9979 0.9979 0.9980 0.9981
2.9 0.9981 0.9982 0.9982 47 H)8988/5)S BBL POORA I 7 0.9985 0.9985 0.9986 07986 |
3.0 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990




=l

Z M=

[

R

B =< 1 *‘I‘ﬂfﬁ%’ﬁﬂﬁi@?

pe | FIOEEr I E | #5% 24 == = U | == BES = 5 B
.—.-'cl =l Y- PR B = Eh*l_,:ﬁﬁilﬁ? i =L SRR B T =S = e =l FR AR = o

F . a - b B | h T -
i A P i =N 1Liere | ms | B | = B FL I ds | oy D2 | s
2 2121 | 18802659 | oovorwe [ 12533 | g 3267 | 0 Zoeks | 1128 | o.ssss (o.as3 | o F_GEG |0
a 1.732 | 1023 | 1954 | o.88s2 | 1 1254 | o 2.56E |0 2276|1695 | o.suo7 |o.ess o 4358 |o
=1 L5000 |a.7z2e ! 1.e28 | 09213 | 1 .OESd [ 2266 | o Z.O08E | 2.059 | L4357 lo.ss0| o <5 SO [
= 1.2322 ' 0,577 | 1. 427 | one=ao | 1.063% | o z.o89 |0 1.984 | 2526 | aoazoe |o.8aa |0 “4.01E | o
G| 1.225 |0.485 | L2887 | 09515 | 10510 | 00530 | LM 020 | 1 874 | 2.554 | D3040 | DLS4E | O S.OFE |
7 L.134 10419 1182 | 0.9594 | 1.0423 |0.11=| 1.882 |0.112 | 1.806 | 2.704 | 0.369s | o833 [0.204 | s.204 | 0.076
& | 1064 | oeET3 | 1099 | a.26S50 | 1.0363 |oaass | 1.sis|oaveli1.751 |2.8a7 ) 03512 o220 | 0.ass | 5. 306 0135
21000 {0,237 1032 0.9593 (| 1.0317F |.239 | 1. 761 [0.232 | 1.707 | 2.970 | 0.3367 [o.208 [0.547 [ 5.393 |0.184
10 | D992 | 0308 | 0.975 | 09727 | 1.0281 |0.284 | 1.716 |0.276 | 1.669 | 3078 | 0.3249 |0.797 |o.s87 | 5450 0223
11 D005 VD285 loazT [ R N 1 OS> o321 1579 INZ| 15837 31732 | 0.3152 | 7= F .51l | S 535 | 0255
12 [O.866 | 0.266 | 0336 | 0.9776 | 1.0229 |0.554 | 1.645 |0.3496 | 1.610 | 3.258 | 03089 |o.778 | 092z | 5. saq 028D
13 |0.832 |0.242 |0.850 | 0.9754 | 1.0210 |0.282 | 1.618 |0.37+| 1.585 | 3.236 | v.299s lov70 ! 1.025 | 5 .cav CL 307
14 fO.802 0255 (L8117 0.9810 | 1.0194 | 0406 | 1594 | 05399 | 1.563 [ 3.407 | 0.2935 0763 | 1,118 | s.60s | a.3=zs
I3 0375 10.223 07859 | O.2B23 | 1.OIS0 | 0428 | 1.572 o421 |1 saq s avz | o2san lovse | 1 203 | 5741 | o sar
16 /0750 [0.212 OL763 LO9E3S | 1.0168 0448 | L.552 [0.da0 | 1. 526 | 3.532 | 0uzE31 | 0750 i.282 | 5.782 | 0.3a3
170728 | 0203 | 0739 | 984S | 1.0157 |0.266 | 1.534 o452 |1.511 |a.ss3 | 02787 |0.7494 | 1.356 | =.820 | 0. 5+
18 [0.707 |0.194 |0.718 | 0.9854 | 10148 [ 0.482 | 1.518 [ 0.475 | 1496 | 3.620 | 0.2747 | 0.739 | 1.424 | 5.856 | 0.301
19 | DGEE (18T | (LS008 [ G.a3s2 | 10140 0497 | 1,503 [0.a00 | 1,483 | s.ese | o.zv11 (o734 | 1 agr | s. 201 | 0.a0s
=0 0.5 0180 | 0680 | Oesee | 1.0133 (0510 ) Laor |osowe |1 ara |z raslozs s loroa !l 1l sqao |lsuz1 loars
21 J0.655 [ 0.173 [ 0LG63 [ 09876 | 1.0126 |0.523 [ 1.477 |0.516 | 1459 | 3. 778 | 02647 |0.724 | 1.605 | s.051 0.a2s
22 | 06I0 | 0167 | 0647 | 09882 | 10119 |0.534 | 1,466 |0.528 | 1,448 |3.810 | 0.2615 |0.720 | 1.659 | 5.070 |0.s34
23 |0.626 |0.162 | 0.633 | 0.9887 | 1.0114 | 0.545 | 1.455 | 0.539 | 1.438 | 3. 858 | 0.0592 o716 | 1.710 | 6.008 | O.as3
2 C.Gl2 | G IST 4819 | OS82 1. 0109 |a.555 | 1. 945 | O0.542 | 1.az2® | 2 a5 L2ASST T I2 | .75 | a3 | O.951
x5 D00 | O 153 | 0S80 | 989 105 0. 565 | 1,435 o 559 | 1. 424 d4.931 0,254 JCTOE | 1. 80w JBOSE | OLFS53 |

1 i | 1 1
F:F ovrx = 25 = Bl £ F 5] a2 2K 3 P F o) oS <R B S -
3 3 ] e — 13 2
A = = = _42 = — A — — = .y = — - = By =1 — - E
"= = e dre — 3 a2 — 1)




. Checking Sheet % &
. Pareto chart  tHfI[E
¥

. Histogram IEWi]
. Scatter plot A B
. Stratification  JEHI}E (or B8 E E)

1,

~J
. Control chart = | [E
&

~N o o~ W
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Cause-effect diagram
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8. EfllE

8.1. & £ (variation) s/ 72
Data(Bi5) # — X ?

EX: #Ekﬁiw%fwm N S
o 1=

VAR
SR TP

&
).
ny,
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% 2L
wbu P

gz &4 fe Xk p data 2. variation

ex, = HE |, Chi-square, Gamma

ORI R SPC2013BU A NERG B A R Bui%
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In practice

Homogeneous data?

IS It availlable?

variation?

L iR [ SPC 2013 B G N EMG Z A R B 2
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EE rm B AR 5 B 4R

Variation + guality %

Variation -} quality 4

LA 5 SPC2013 B A KA Z A R BB 2%
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data &+ pF F& #c )| srwvariation

i
N
gl
—~

Tz B R 2 e f ]

EEEF
N
I

T T T T T
Date/Time 10/13 10/26 11/8 11/21 12/4

WER UL T EF R NB WY
Variation Is unacceptable!!

g s ke 2 SPC2013F G A B i 22 M
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Variation existed?

B Bl PRE A (FoR B MR

AR R

-

why?

KB EEAE sy SPC2013BUA REMG R RIS BUX
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Source of Variation

Special Causes 37k 7]
Common Causes + [ 7]

LA 5 SPC2013 B A KA Z A R BB 2%
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C.C. of Variation: b= e 4

S.C. of Variation: &

ﬁz%imﬁﬂaﬁ%iﬁ%{%éﬁﬁ
b HE R AR

i e /\

e
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process Is in-control?

In-Control; C.C.
Out-of-Control: S.C.+C.C.

SC: it fE3E & Tasaxt £F 774 (4M),..
CC: e e B IRIEINER
MERIE,..

HEERAE [ SPC2013BUA R ES 22 5 RS Bt



e[ %138 process is out-of-control?

cir 5 L BcHh L $ B2

How to know the occurrence
of special cause??
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collect data and plots it
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94



X
= UclL
b 4
.x c L
>
LCL

| 2 3 4 £ _ __ +tTme
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95



O
0

7E

0

HHA

o

HEE out-of-control process.
Action: find SC and remove it,
process back in-control
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action for out-of-control process

50 55 &0 €% 707’500!590?5‘00¥GSHG

Product output with overadjustment

out-of-control distribution

N
remove }
SC |

LT o €3 Vo 3 Aac a3 0 LB = BT - T -1‘(.‘“"
(51.-..5!1 Ly Meveenmsion

In-control distribution
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fEF

In-control process.

next step:

process capability?

need process improvement?
Continuous improvement

KB EEAE sy SPC2013BUA REMG R RIS BUX 98



In-control distribution

cpk=1

i
I
- X
st 1T " ust
WEEIIVE YD

TR AV 32
KL

siEyE

» distribution after process improvement
reduce variation of cc

cpk=1.6

= X

LSL

HERNWEESE
B A7 4 e
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How to make a control chart
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BB aaE 2 3R
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- T E [ Z AEE

PERRAARINN) ~ SRR (h) ~ AT =

- WEEMAH R AR B (RIS 2 B A)

- s EEASREHIE ZCL ~ ULC HILCL

- RHEREEE] B AETCEME G AR S A E TR E

%U I:Irp

%Eiu'ﬁ"%ﬁ A Ew s R A > HIEBLESIGRTE > EFETE
EHIFR > EEC 20 TR erEE ARNEIE K
HigrE2dfE (phase 1) - BFEHEHIFIEA 1] FH 2R B R A
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- R BRI o h NP RN B - ST RUEHESET

5 > BEPVEHIE L LLAIE L 45442 (phase 1)
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B AR ket R IL

Based on in-control distribution of quality variable

UCL
O O O
S O CL
o 0O
LCL
| | | PN T
1 4 7
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Shewhart w & | B 777¢ 1

U C Lw :Mw+3 Ow
CLW —Hw

LC Lw :HW'3 Ow

KRR R SPC2013BU A KRG R SRS Bi%
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Viewpoint of Statistics

UCL=mean.+3sigmaw
LCL=meanw-3sigmaw
Alpha=0.0027=false alarm rate

ARLO=1/alpha=370.4

HO: process is in control ( parameter no shift)
H1: process is out of control (shifts)

KB EEAE sy SPC2013BUA REMG R RIS BUX
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¥ 41 P2l

—RE(W)iE E AN > BIET SR AR I AR -

UCL

>lwlajla|m| >
N
<
1
L~
N

LCL

Determine n, h and k
monitoring statistic w
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CONS

not sensitive for
small shift In process parameter
( mean or variance)

=poor detection ability

(that Is, power ,1-beta, is not good)

ORI R SPC2013BU A NERG B A R Bui%
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u,+t3o,=UCL
A
Hyt20,
B
Hwt oy
C
M= CL
C
Hw—Ow
B
ILIW_ZGW
A
u,—30,=LCL
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% 3B e T_erE B
4
Shewhart & | B 114 jp] 4
(for small shift in process parameter)

Increase power (1-beta)
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UCL
A
VAR CL
LCL

B B TEER B e i, .
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e FRIELFR B S or imEEE, ...
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UCL

CL

LCL
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UCL

EN=Eitiies
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UCL
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LCL
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CONS

Shewhart charts+ % & & 2_7,2 J
+H s g T P

W HE 48 3820 2 (alpha)



el B4 - 8 B )

1it=1E © mERE A DET = E
REFRR 1 &E - EHE DR~
25THVE - WA TSR s @1552&

=B E S B E] B Xbar-R, Xbar-S charts
X-MR charts
ETEUE ETHUE HE],Nnp, p, C, U charts
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8.2 X — MR charts

15 Hin-control M2i9{g S8 B8 or — 3%
T ST

2

Y ~ N(,U,T)

2

H, O KA

YAl ET?
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m (>=25)4H 1A, B AR/ N

No X1 X2 X3...Xn Xbar R
1 X1 Xz X13... Xwn Xibar R:
2 X211 X220 X23..Xon Xebar R

M Xmi Xm2 Xm3... Xmn XeoDar Rm
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Trial charts
R chart:;

X chart:

X — MR charts

D,R
" D,  Ds RS
D,R
§+A2§
X A2 & 20N
X —A,R

KB EEAE sy SPC2013BUA REMG R RIS BUX
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B3 A T (1)

Phase | :
F &+ xibar and Ri, i=1,2,3,...m [E#&IA R
X — MR charts
samples from in-control process

B & = &h X MR charts + % 143§ gik % @&

Phase Il
i e X — MR charts i el #2
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IR T S o - A N 7))

%E

Phase | :

Z=mET- Xibar and Ri, i=1,2,3,...m | FH a8 R e 1h
¥ X — MRcharts, 5 £ % % SC# 5, % LG A
bR, ARG EAER ESE ? %Dﬁ A

B X — MR charts &1 UCL and LCL
B 5 eRBEF xibar and Ri, 1=1,2,3,--m FEf& 7.

Phase Il
Bl v — MRcharts ¥ % 1uif gefll 48
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» 1 p 3/12~3/164 B d @Az ftk, =
N R R AT ] G-t 97}%7!& Hip B2 E >
b+ 12 HUSLE5. 0615, LSL5, 0645 + £ T=5.

BHIG & Y

Z&@Jmn 5 é@zﬁ'ﬁ’“ﬁﬁﬂ%—n
NIE > REZ B NERHIFREA S

_3_‘/_./_.

r’r"Frr“ F2fr gr v Xbar-R 7 4B gl Az @ HEA] 4 p E_a@ R TN

PP Bk A o 22308
Hpl Lﬁf =% (1 =0. OOImm)
063 - 2= N S S

sl

£y

Rbar =0.001443.

DIEED,=0f1D ,=2.114

R=2.114(0.001443)=0.00305

N =
_ . d, =
UCL=R + Bd_zR =
CL= g | =0.001443
LCL= g -3d—3ﬁ =D, R =0(0.001443)=0
2
4Tl R [E
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7 ¢ S0MHEZE

No. x1 X2 X3 X4 x5 O Range
1 5.0629 5.0636 5.0640 5.0628 5.0636 5.06338 0.0012
2 5.0630 5.0631 5.0622 5.0634 5.0631 5.06296 0.0012
3 5.0628 5.0631 5.0633 5.0619 5.0631 5.06284 0.0014
4 5.0634 5.0630 5.0631 5.0613 5.0630 5.06276 0.0021
5 5.0619 5.0628 5.0630 5.0629 5.0628 5.06268 0.0011
6 5.0613 5.0629 5.0634 5.0639 5.0622 5.06274 0.0026
7 5.0630 5.0639 5.0625 5.0627 5.0633 5.06308 0.0014
8 5.0628 5.0627 5.0622 5.0626 5.0633 5.06272 0.0011
9 5.0623 5.0626 5.0633 5.0631 5.0638 5.06302 0.0015
10 5.0631 5.0631 5.0633 5.0630 5.0638 5.06326 0.0008
11 5.0635 5.0630 5.0638 5.0630 5.0625 5.06316 0.0013
12 5.0623 5.0630 5.0630 5.0631 5.0630 5.06288 0.0008
13 5.0635 5.0631 5.0630 5.0632 5.0627 5.06310 0.0008
14 5.0645 5.0640 5.0631 5.0630 5.0626 5.06344 0.0019
15 5.0619 5.0644 5.0632 5.0644 5.0631 5.06340 0.0025
16 5.0631 5.0660 5.0630 5.0627 5.0631 5.06358 0.0033
17 5.0616 5.0623 5.0631 5.0623 5.0626 5.06238 0.0015
18 5.0630 5.0630 5.0626 5.0630 5.0629 5.06290 0.0004
19 5.0636 5.0631 5.0629 5.0630 5.0629 5.06310 0.0007
20 5.0640 5.0635 5.0629 5.0631 5.0645 5.06360 0.0016
21 5.0628 5.0625 5.0616 5.0635 5.0619 5.06246 0.0019
22 5.0615 5.0625 5.0619 5.0623 5.0629 5.06222 0.0014
23 5.0630 5.0632 5.0630 5.0629 5.0639 5.06320 0.0010
24 5.0635 5.0629 5.0635 5.0639 5.0629 5.06334 0.0010
25 5.0623 5.0629 5.0630 5.0629 5.0639 5.06300 0.0016
26 5.0629 5.0630 5.0645 5.0639 5.0629 5.06344 0.0016
27 5.0639 5.0631 5.0619 5.0629 5.0639 5.06314 0.0020
28 5.0627 5.0626 5.0631 5.0639 5.0625 5.06296 0.0014
29 5.0626 5.0629 5.0616 5.0631 5.0625 5.06254 0.0015
30 5.0631 5.0629 5.0630 5.0625 5.0632 5.06294 0.0007
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ﬁ UCL=0.003052

0.003 —

] T IVAL VY

0.000 — LCL=0

Sample Range

0 10 20 30
Sample Number

FHHBL6EPRHVE R EIR 2L - 8B IR PR RS RIS
LN LORGE AR % M RRYER - IR 2 sl
EHlEEEL -

[EIERP B Sett A Bk E H BRIV 16 A= R AR
PR H P ERIV294H B A ERHE R R [E].
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R Chart

0.003 — UCL=0.002917

=1 /\/\\f /\ A A
o TV Y

0.000 — LCL=0

Sample Range

0 10 20 30
Sample Number

- BIER Z R [E|

A REPR L E ISR - M HATF S s AR
Bl e Y - BUREUE B AR ERY -
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2 > @il Xbar chart - H4LEHE - ):( =5.06301
Afin=5 - wiF=—14155] A=0.577 -
RIEE » Xbar [& 2 Bl - N R a Ry
UCL= x+A R =5.06301+0.577(0.001379)=5.0638
CL= 7  =5.06301
LCL= | 5 ~5:06301-0.577(0.001379)=5.0622

é%g Xbarlgl : X-bar Chart

5.064 —

> |l

UCL=5.064

/2 BEBE B IR AN

’ jﬂiﬁ%”ﬁﬁﬁ_ﬁjﬁ%%;\g 5.063 — \ A /\\ﬂ /\ /\/\\ Mean=5.063
AR - BEHY TS

\NV\/\/V
Bty - RO R
IR T AR - T T

Sample Mea

LCL=5.062

T
0

Sample Number
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RIEEFA P LUBHER ABAZHT g FIRE ] B2 & PR

UCLxbar =5.064 UCLz=0.002917
Clxbar =5.063 CLz=0.001379
LCLxbar=5.062 LCL,=0

BB

Fhgh/ N E—#ri An=5, 5T&HRbar and Xbar, %/ RE il
& AIXbarg fill[&l, 75 H 57 5 = e G R R A £,

B FRR R s 2 H B HERR T TH), 2R [ RE E 12 fgh /)N
F P H— i AN B it

B2 AR R 2 AR B, Bh/NISF P Y — s A 2B it

ﬁ
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By THEEH

29(

[

wlAefE €T E'ﬁ@l 2 i

EFN

Frequency

Percent

70

60

50

40

30

20

10

4

eSS A RE

NERHEE T E JZ”L’%\T&? =

—1 —

T T T T T T T T
5.0610 5.0615 5.0620 5.0625 5.0630 5.0635 5.0640 5.0645

#HER

Normal Probability Plot for &=

ML Estimates - 95% CI

5.061 5.062 5.063 5.064 5.065
Data

PP C R

ML Estimates
Mean 5.06299
StDev 0.0006236

Goodness of Fit
AD* 2.555
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A CARIZE - SRR BC A RE -
AL > XAEZHERRE Ry A

i

X ~N(x,(R/d,)?)
X~N(5.06301, (0.001379

2.326
PCF B1)=P(X<5.0615 or X>5.0645| X~(5.06301,(0.00059)2))

= 0.00059)2)

=1-P(5.0615< X <5.0645| X~ N (5.06301,(0.00059)2))
=1-P(-2.56 <Z <2.53)=1-(0.9943-(1-0.99477))=0.01093

~10930PPM Bz 4 2 &, F ey

LA 5 SPC2013 B A KA Z A R BB 2% 134



8.3 X — S charts
m (>=25)4H5 AN, B A K/
No X1 x2 Xx3...Xn Xbar S

1 X1 Xz Xi13... Xwn Xibar S:
2 X211 X222 X23...Xon Xebar Sq

M Xmi Xm2 Xm3... Xmn X.Dar Sm

X S
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8.3 X — S charts

w |
| X|
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[EI5—]

X

No. x1 X2 X3 x4 x5 S
1 5.0629 5.0636 5.0640 5.0628 5.0636 5.06338 0.0005119
) 5.0630 5.0631 5.0622 5.0634 5.0631 5.06296 0.0004506
3 5.0628 5.0631 5.0633 5.0619 5.0631 5.06284 0.0005550
4 5.0634 5.0630 5.0631 5.0613 5.0630 5.06276 0.0008325
5 5.0619 5.0628 5.0630 5.0629 5.0628 5.06268 0.0004438
6 5.0613 5.0629 5.0634 5.0639 5.0622 5.06274 0.0010213
7 5.0630 5.0639 5.0625 5.0627 5.0633 5.06308 0.0005495
8 5.0628 5.0627 5.0622 5.0626 5.0633 5.06272 0.0003962
9 5.0623 5.0626 5.0633 5.0631 5.0638 5.06302 0.0005891
10 5.0631 5.0631 5.0633 5.0630 5.0638 5.06326 0.0003209
11 5.0635 5.0630 5.0638 5.0630 5.0625 5.06316 0.0005030
12 5.0623 5.0630 5.0630 5.0631 5.0630 5.06288 0.0003271
13 5.0635 5.0631 5.0630 5.0632 5.0627 5.06310 0.0002915
14 5.0645 5.0640 5.0631 5.0630 5.0626 5.06344 0.0007829
15 5.0619 5.0644 5.0632 5.0644 5.0631 5.06340 0.0010464
16 5.0631 5.0660 5.0630 5.0627 5.0631 5.06358 0.0013627
17 5.0616 5.0623 5.0631 5.0623 5.0626 5.06238 0.0005450
18 5.0630 5.0630 5.0626 5.0630 5.0629 5.06290 0.0001732
19 5.0636 5.0631 5.0629 5.0630 5.0629 5.06310 0.0002915
20 5.0640 5.0635 5.0629 5.0631 5.0645 5.06360 0.0006557
21 5.0628 5.0625 5.0616 5.0635 5.0619 5.06246 0.0007503
22 5.0615 5.0625 5.0619 5.0623 5.0629 5.06222 0.0005404
23 5.0630 5.0632 5.0630 5.0629 5.0639 5.06320 0.0004062
24 5.0635 5.0629 5.0635 5.0639 5.0629 5.06334 0.0004336
25 5.0623 5.0629 5.0630 5.0629 5.0639 5.06300 0.0005745
26 5.0629 5.0630 5.0645 5.0639 5.0629 5.06344 0.0007266
27 5.0639 5.0631 5.0619 5.0629 5.0639 5.06314 0.0008295
28 5.0627 5.0626 5.0631 5.0639 5.0625 5.06296 0.0005727
29 5.0626 5.0629 5.0616 5.0631 5.0625 5.06254 0.0005771
30 5.0631 5.0629 6106306 = sPC A2, 1o Ehis 2 30630 5.06294 0.0002702 137
506301 0.0005777 °




UCL= B, s=2.089(0.000578)=0.001207

CL= 0.000578
LCL= B, <=0(0.000578)=0

S Chart
0.0015 — 1
/T UCL=0.001207
5 0.0010 —
o
0
@ A _
Q X 3 X S=5.78E-04
%0-0005—x/§lw \/\/ X
wn
0.0000 — LCL=0
I I I I
0 10 20 30

Sample Number
S =,
=]
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%165—7&2& =y PN

S Chart

UCL=0.001150

e M\f N A

0.0000 —

0.0010 —f

Sample StDev

LCL=0

(EIEG s

i

AR E RIS - A H AR 5 s s AR S
wH e E Y - BEFRORDL ERVEIE SRR EE’J
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29FREAE R T X-bars |

[

UCL= § +Ass
=5.06301+1.427(0.000551)=5.064

CL= y =5.06301

LCL= x - Ass

=5.06301-1.427(0.000551)=5.062
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X-bar Chart

5.064 —
UCL=5.064
c
©
j<5)
@ 5.063 — Mean=5.063
= ¥
©
w
LCL=5.062
5.062 — | | |

I
0] 10 20 30

Sample Number

AR EFRIFIRESS - A B AP S E e AR o B
T ety - iEFR DL ERVEIRE S (E S fE ERY
X-bar and S charts &} 5K 5 fa e 2L, & & v FH LA

IBHER AR EIFE
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X ~ N(x (2)?)
C,
X~ N (5.06301,(0.000586)2)

PR B)=P(X<5.0615 or X>5.0645| X~ N (5.06301,(0.000586)2))
=1-P(5.0615 <X< 5.0645| X~ N (5.06301,(0.000586)2))
=1-P(-2.577 <Z< 2.543)=1-(0.994-(1-0.995))=0.011
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8.4 X- MR charts (n=1)

No. X MR
1 x1

2 X2 MR1=[x2-x1| n=2
3 X3 MR2=[x3-x2

M XM MRmi=[Xm-Xm-]

xbar M&@%@fﬁ@%Qoﬂﬁdéﬁ%%%%%ﬁ%%ﬁ% 143



8.4 X- MR charts (n=1)

X ~N(u,0°) X memmmeee- U
MR/d, ————0c
MR chart:
D, MR

MR D, D, i tn=2
D,MR

chart:

X +E,MR
X

E, -266

X —E,MR
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8.5 np chart
X~(n,p) pEX

E(X)=np V(X)=np(d-p)

UCL =np +3,/np(1— p)

LCL =np—34/np(1- p)
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8.5 np chart |
X ~(n,p) pARH

No n X

H
>
X
H
O T O

=
-
X
=
©)
3
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np chart

X~B(n, p), p K&, P

NP +3nP(1-P)

npP

nP—3nP(1-P)

i A

X —Nnp

VA

' JnPa-P)
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ACHIERLYIH A S8 S AEE R

FE ]

J N

2P

AR E R A E S NP EE

EENL ] DUBHEAR AR A SR LHINpE ]

B P T Y

4HEY Xi
i - Y
2 13 200
3 12 200
4 14 200
5 8 200 _
6 14 200 NP Chart for Xi
7 13 200
8 14 200 UCL=22.65
9 10 200 20
10 15 200 _
11 13 200 S /\4
@]
12 9 200 S S AN AN
13 11 200 2 \/ \/é NN
14 17 200 =
15 13 200 0
16 14 200
17 8 200 LCL=2.179
18 10 200 0 — : : : : :
19 13 200 0 5 10 15 20 25
20 11 200 Sample Number
21 15 200
22 12 200 = AN IV T oz R AS = \
23 10 200 E/{"I’j’\i E iﬁ%ﬂi?@*i, = ﬁrﬁﬂ Sl )EH«L/L
= = = B AR BIAE
> Xi LT 5 SPC2013H & A S R S I e 148
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8.6 p chart
X~(np) pCHl

p=X/n, E(F)=p, V()= p(ln‘_p)
UCL=p + 3\/'0(1_ P)
n
CL=p
CL=p _3\/p(1n—p)
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X~B(n, p), p » ¥,

P P

UCL=p +3Jpagp)

CL=p

LCL=p _3Jpa—p)
N
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Xi

RPj— Xi
Week Xi ni i Week Xi ni Fr=-
1 39 64 0.609375 21 39 67 0.582090
2 45 68 0.661765 22 39 68 0.573529
3 31 59 0.525424 23 35 63 0.555556
4 40 65 0.615385 24 27 58 0.465517
5 39 65 0.600000 25 34 64 0.531250
6 28 60 0.466667 26 42 68 0.617647
7 32 61 0.524590 27 44 70 0.628571
8 35 65 0.553846 28 35 65 0.538462
9 32 64 0.500000 29 32 59 0.542373
10 41 68 0.602941 30 23 55 0.418182
11 28 80 0.350000 31 37 68 0.544118
12 28 59 0.474576 32 38 66 0.575758
13 31 62 0.500000 33 41 70 0.585714
14 29 57 0.508772 34 41 68 0.602941
15 46 70 0.657143 35 35 68 0.514706
16 25 61 0.409836 36 41 68 0.602941
17 36 67 0.537313 37 30 60 0.500000
18 34 60 0.566667 38 32 58 0.551724
19 24 56 0.428571 39 34 61 0.557377
20 42 70 0.600000 40 40 68 0.588235

P= 2X — 0.5461

>oni
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0.8

0.7

0.6

0.5

Proportion

0.4

0.3

P Chart for Xi

e Tl s e T | UCL=0.7272

s A

LCL=0.3649

Sample Number

TISFERH R B RIR N 2,

ﬁl}ﬂ% FLLUES B A E R, EH RS ] E]
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Proportion

0.8

0.7

0.6

0.5

0.4

0.3

P Chart for Xi

UCL=0.7332

ijI J N At L A2 o
PV

LCL=0.3714

I I I I
10 20 30 40

Sample Number
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fE4E{Ep chart

Standard P Chart

3 — UCL=3

zIﬁI .

ST

-3 — l LCL=-3
-4 —] 1

I I I I I

0 10 20 30 40

Observation Number

mp

i

PR =R 1R AR, B BUE ]
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fE4E{Ep chart

Standard P Chart

3 — UCL=3

2%WJA%%ﬁ\meMWO

3 _ LCL=-3

0 10 20 30 40
Observation Number

sk Ak B iR e 2R, B I8 v A PUBHER 2R
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8.7 c chart
X ~P(c) ciEAl

E(X)=V(X)=c

UCL=c +34c
CL=c

LCL=c —34c
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C KAl

—|—3\/§

UCL
CL

LCL —c — 3¢

KB EEAE sy SPC2013BUA REMG R RIS BUX 157

— C
— C



[ SRR T T e S S HIRAE » 5HLH~6H L5 HAEH
ATELO BT THFHIARIR R 2 LB - I aIBE I R A ke -

(D= ACEIE (2)47E T A LS

AL C/E il

C 2.Ci =8.739

158

Day i Ci Day i Ci
1 9 24 5
2 10 25 8
3 12 26 7
4 14 27 8
5 11 28 13
6 9 29 6
7 10 30 9
8 9 31 6
9 11 32 5
10 8 33 10
11 11 34 13
12 9 35 4
13 5 36 6
14 3 37 4
15 10 38 10 B
16 7 39 10 46
17 6 40 8
18 12 41 11
19 9 42 8
20 10 43 9
21 10 44 7
22 sl it 5 SPC201 3B L A ARz ks 14
23 9 46 10



T OB A T B (5 T -~ OB ] — 4555

£ PR RL %, B 2 E]

C Chart for ci

20 —

A L

Sample Count

A‘\/w WW\A/

f o

[ [ [ I
0 10 20

40

50

UCL=17.53

C=8.689

LCL=0

LR IR &wm%lT%u e e
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8.8 U chart
X.In ~P(u) utAl

E(X./n)=u
V(X./n)=u/n

UCL —u +3_ [
n;

CL = u

LCL —u—3_ [
n;
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X, In, ~P(u) uRAH

No n X ul
1 nl x1 ul
2 N2 X2 uz2
. m
m n3 Xm um izzll'
UCL —u + 3 u
n;
CL —u
LCL —u — 3 u
M

i
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[P RIARUESE R R S E RN - RS

AR Z AR b B LR B R - FRERYITRUCBERE B A= -

HIHZE T Es R

(1)L P U S8 (2) A 7 LB MR AR iy U 1 2 A e 5

(3) SRS tU

= il

Ci
week Ui= ni
1 72 13. 688 5.2600
2 73 13.780 5.29753
3 78 14.056 5.54923
4 64 12.695 5.04135
5 59 13.087 4.50829
6 68 14.083 4.82852
7 69 12.518 5.51206
8 56 12.342 453735
9 81 14.816 5.46706
10 70 14.958 4.67977
11 75 14.372 5.21848
12 71 12.649 5.61309
13 68 12.813 5.30711
14 56 13.027 4,29876
15 47 12.351 3.80536
16 12 13.941 5.16462
17 70 12.986 5.39042
18 61 14.580 4,18381
19 58 12.151 477327
20 64 13.709 4.66847
21 77 13.459 5.72108
22 61 14.366 4.24614
23 58 13.314 4,35632
24 62 13.897 4.46139
25 77 14.963 5.14603
26 69 12.707 5.43008
27 69 12.524 5.50942
28 50 12.461 4.01252

29 70 12.507 sERbe
30 72 14.945 4.81766

U Chart for Ci

A A A L AL
AL

Sample Count

T T T T
0 10 20 30

Sample Number

U= 2.C = 4.946

D ni

BEUEREG RIS EIR

UCL=6.672

U=4.946

LCL=3.220
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fEAE(EU chart

Standard U Chart < = —
ul
3 ucL=3 n,
) |
-
JAMA A A e E(=) =
VI \J
- NV (Z) =1
3 _ LCL=-3
; 1 0 ;

Observation Number
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SIX sigma

Bt g R +:% A =lean six sigma

165
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Thank you
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